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(1) Bgml - BKkE
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7—=17 7—21
o 5 5 wg | Bg | mERNTR | ARRE
HAEFAR H22.11. 4 H22.11.4
EN £y £Y
REREEZI 11:14 10:39
S C 9.0 8.8
KiE °c 10.5 1.7
BRE = = 30 = 30
it BHERE BEE
[T mE mE
EES mg/2 1 UT <0.02
o H - 7.3
BILMA L > me/0 - 140 34
EX{nBE 4 S/cm — 640 240
(2) BDHTK
7—6 7—9 7—10 7—23
o 5 5 s | emem| sv—vm | swEmsm [ ees IR
s | MNo.8#E No. 153+ = TRAE K
HAEFAR H22.11. 4 H22.11.4 H22.11. 4 H22.11.4
X D Ah An EY)
R 10:17 10:40 11:056 10:21
SR °c 10. 8 8.0 7.6 9.1
KiE °c 11.2 9.3 8.6 9.8
BRE = = 30 = 30 = 30 = 30
it wE mE wE wE
[T mE mR mE mE
ooniray mg/2 0.02 LT <0.001
mig{bRE mg/4 0.002 LL'F < 0.0001
1,2-sy00x4y mg/2 0.004 LI'F < 0.0001
1,1->9BpaxIFLy mg/4 0.1 U < 0.001
1,2-YyppxFLy mg/¢ 0.04 LT <0.001
L1L1-tysnpxT3z> mg/4 1 UT < 0.0005
11,22+ 8BIT58 > mg/2 0.006 LI'F < 0.0001
F)oBopTIFLY mg/4 0.03 LT < 0.001
Th3HO0O0TFLY mg/¢ 0.01 T < 0.0005
1,3-yopJarRy mg/¢ 0.002 LL'F < 0.0001
1L4-S4FH9> mg/2 0.05 LT <0.005
BlEEZLE/ 2 — mg/¢ 0.002 LL'F < 0.0002
NoEy mg/¢ 0.01 LT <0.001
EF5% mg/4 1T 0.11 0.02 0.09 <0.02
p H — 6.3 6.5 1.1 6.7
(R mg/4 - 4.8 51 20 14
Exin@E uS/cm — 380 310 240 150
Hh R K i m — 43.35 19.23 22.51 9.31
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